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ALGEBRAIC EXPRESSIONS

Question Bank 6

1. Which of the following expressions is not a polynomial?

A.6y> + 5y — 2y — 9

2, 4 45, 3
B.— — — 6
9:1: Y+ 13a:y + 0y

C. (a3 — 8a) (x4 + 6)

5 brt + Tx2y? — 8
' Y



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_7DYiN3bQudbZ

Answer: D

o Watch Video Solution

2. Which of the following expression is a polynomial?
Ay +V2(z—4) +x
B.{/9z + z* — z
C.a"7+/Ba+6

D.4,/z +zy — 1

Answer: A

o Watch Video Solution

3.What is the degree of the polynomial 2a% + 4b%?


https://dl.doubtnut.com/l/_7DYiN3bQudbZ
https://dl.doubtnut.com/l/_QIhPxXa8hbyM
https://dl.doubtnut.com/l/_Buj7uhJmBzJa

A .2

B.10

C.8

D.O

Answer: C

o Watch Video Solution

4. Degree of a constant term is

A1l

B.O

C.2

D. not defined


https://dl.doubtnut.com/l/_Buj7uhJmBzJa
https://dl.doubtnut.com/l/_RZrsWwKglL3o

Answer: B

o Watch Video Solution

5. Degree of the polynomial (a,2 +1)(a+2) (a3 + 3) is

A3
B.6
C.2

D.7

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_RZrsWwKglL3o
https://dl.doubtnut.com/l/_hmFZvtSkzFEH

3
6. If the degree of the polynomial (pﬁ + 7) (p" + 3p) is 9, then

the value of n is

A1l
B.3
C.6

D.18

Answer: B

o Watch Video Solution

7.The sum of three expressions is z> + y* + z2. If two of them are
42® — 5y + 32% and —3x? + 4y® + 222 then the third expression

is

A 222 1+ 272


https://dl.doubtnut.com/l/_e32uy6T4K8fM
https://dl.doubtnut.com/l/_iV8W43pnRpTt

B. 2y
2

C.22% + 2y2 —z

D. 2y? + 222

Answer: B

° Watch Video Solution

8. If

P=3x—4y—82,QQ = — 10y + 7z + 11z and R = 19z — 6y + 4x

,then P — Q + R is equal to

A. 13z — 20y + 162

B.O

Cxtytz

D.2x — 4y + 3z


https://dl.doubtnut.com/l/_iV8W43pnRpTt
https://dl.doubtnut.com/l/_jLWtYeRmfOHV

Answer: B

o Watch Video Solution

9. The product of 4a%, — 6b> and 3a?b? is

A a’b?
B. 13a*b*
C. —72a*b*

D. a*b?

Answer: C

o Watch Video Solution

10. (14z°yz — 28z°y°2® + 32y”2%) + ( — 4zy) is equal to


https://dl.doubtnut.com/l/_jLWtYeRmfOHV
https://dl.doubtnut.com/l/_OenqYVg4b2Kk
https://dl.doubtnut.com/l/_RcA53J7saD31

7
A Eyz + Tzyz® + 8xyz

8yz2

7
B. — 5 %% + Txyz® —

8yz2

C.— %xz — Txyz® +
7 8yz2
D. sz — Txyz? — Y

Answer: B

° Watch Video Solution

1 1 9 oy .
11. The product of 5:1: — Ey and (5:1: + 6y ) is

A1

Bt %y

. T
STy Y

Cat b o

2t + 552ty — g
11

D.zt — ——a%y? —

30


https://dl.doubtnut.com/l/_RcA53J7saD31
https://dl.doubtnut.com/l/_CA3e8nZdzVuw

Answer: C

o Watch Video Solution

12. The product (z + 2) (z® — 2z + 4) is equal to

Az + 8
B.z°> — 8
C.z® —4z®> + 4z — 8

D.z% + 422 + 22 + 8

Answer: A

o Watch Video Solution

1BB.(z +4)(x +3) — (z — 4)(x — 3) is equal to


https://dl.doubtnut.com/l/_CA3e8nZdzVuw
https://dl.doubtnut.com/l/_Rhs9OJa6xMKy
https://dl.doubtnut.com/l/_a7oc4WAy2tkh

A 2x% — 14z + 24

B.2z2 + 14z — 24

C. 14x

D. 24

Answer: C

o Watch Video Solution

14.1f (m2 + 4z — 21) is divided by  + 7, then the quotient is

Az +3
B.x —3
C.z2 -2

D.z — 4


https://dl.doubtnut.com/l/_a7oc4WAy2tkh
https://dl.doubtnut.com/l/_4W0gV38iw31r

Answer: B

o Watch Video Solution

15. What is the remainder when 13z% + 22z — 10 is divided by

T + 2?

A2

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_4W0gV38iw31r
https://dl.doubtnut.com/l/_c8ceVNFPqNib

16. A polynomial when divided by (z — 6), gives a quotient
2% 4+ 2z — 13 and leaves a remainder — 8. The polynomial is

Az + 4z + 25 — 78

B.z° — 42® — 25z + 70

C.z° — 4z® — 25z + 70

D.z3 + 4z% — 252 + 78

Answer: B

o Watch Video Solution

17. For a polynomial, dividend is ot + 4z — 222 + 2% — 10,
quotient is z° + 3z? + 4z + 12 and remainder is 14, then divisor is

equal to

Az +2


https://dl.doubtnut.com/l/_jBRuhdlwtvmN
https://dl.doubtnut.com/l/_zTqvS7PjsKfh

Cx+2

D.z — 2

Answer: D

° Watch Video Solution

18. What is the quotient when 10a* + 3a — 27 is divided by 2a — 3

A ba — 9
B.( — 5a —9)
C.(—5a+9)
D.5a + 9
Answer: D

| o WMiabkl .\t daa CAliibkia


https://dl.doubtnut.com/l/_zTqvS7PjsKfh
https://dl.doubtnut.com/l/_jjzMzFe9UfH3
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19. If (142® + 13z — 15) is divided by (7z — 4), the degree of the

remainder is

Al
B.2
C.0

D.3

Answer: C

o Watch Video Solution

20.

z+y—(z—z—[ytz—(e+ty—{z+z—(y+z+a)})] is

equal to


https://dl.doubtnut.com/l/_jjzMzFe9UfH3
https://dl.doubtnut.com/l/_UryGcIzA5rpE
https://dl.doubtnut.com/l/_FmvLdlz002o4

D.O

Answer: A

o Watch Video Solution

21. The remainder when z® — 2z is divided by z? is

A1
4
Bx — 2+ —
T
Cc.0

D. 4z — 2z>


https://dl.doubtnut.com/l/_FmvLdlz002o4
https://dl.doubtnut.com/l/_bckQDgy0xQDn

Answer: C

o Watch Video Solution

1
22. What must be added to; to make it equal to x ?

Answer: D

o Watch Video Solution

1
23.Using the formula: W = np + ENXz, frame a formula for X.


https://dl.doubtnut.com/l/_bckQDgy0xQDn
https://dl.doubtnut.com/l/_5MNTDhtoAJXv
https://dl.doubtnut.com/l/_hG4a6wlIA9GN

2N
g |2V —np)
' N
np—W
C. N
w
D, + np
2N
Answer: B

o Watch Video Solution

24.1f A = 71'(R2 — r2),then R is equal to

A — 7r?

A. _—
T

A D)

g AT
T

r2r — A

C.y{/ —
T

rir — A

D. _

T


https://dl.doubtnut.com/l/_hG4a6wlIA9GN
https://dl.doubtnut.com/l/_oSMzCCZZX0md

Answer: B

o Watch Video Solution

3 1 1 ,
ZS.Z(a—i—y)— y+a—§ y—i—a—Z(a—i—y) is equal to

Aa+y
B.3a
C.—4y

D.O

Answer: D

o Watch Video Solution

Self Assessment Sheet 6


https://dl.doubtnut.com/l/_oSMzCCZZX0md
https://dl.doubtnut.com/l/_jYSMUGo7Fll5
https://dl.doubtnut.com/l/_8vLSHzmvgebF

1. Figureshows a number of equal steps. If the 'rise’ of each step is
h cm, are there are n steps, make a formula for the height (H) in

centrimeters of the steps.

1

IR . .

AH=—nH

B.H = 2nh

C.H =nh

D. H = n’h

Answer: C

[ A


https://dl.doubtnut.com/l/_8vLSHzmvgebF

| ° Watch Video Solution

Self Assessment Sheet 7

1. If the 'tread' of each step is a cm, and there are n steps, make a

formula for the length (d cm) of AB.

-i.'-

™ e

A.d= —na

B.d = na


https://dl.doubtnut.com/l/_8vLSHzmvgebF
https://dl.doubtnut.com/l/_bfOIZCU2AHft

C.d = 3na

D.d = na

Answer: B

o Watch Video Solution

Self Assessment Sheet 8

1. If stair carpet is laid, starting at A, how many centimeters will be

required for n steps?


https://dl.doubtnut.com/l/_bfOIZCU2AHft
https://dl.doubtnut.com/l/_vHGzv8ksjkKM

-i—'“—l-"

e T

1
A. —nh + na
2
B.nh 1
.nh + Ena
C.2(nh + na)

D.nh + na

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_vHGzv8ksjkKM

Self Assessment Sheet 9

1. The formula for the area, A sq cm of the white cross is

== N CIT) = F T[T} ==X T}

/I
N 7

A A = daz + day + o*

y

B.A = 2ax + 4ay + a’
C.A = 2az + 2ay + a?

D. None of these


https://dl.doubtnut.com/l/_InJ8JItlgODy

Answer: C

o Watch Video Solution

Self Assessment Sheet 10

w
1. |If P:—(vz—u2), then the value of P when

29
W =40,9 =32,u =4,v=12is

A. 80
B. 82
C.90

D. 78

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_InJ8JItlgODy
https://dl.doubtnut.com/l/_OwjqWbgN8g8x

Self Assessment Sheet 11

1hc1 1—|—1 d 2 3,then fi
Jf— = — + — an = 2,9 = 3,thenfis
f p q P 1

Answer: B

o Watch Video Solution

Self Assessment Sheet 12

1. The remainder when 3z* 4 5z — 7 is divided by z + 3 is


https://dl.doubtnut.com/l/_fMMkPCE6dZfe
https://dl.doubtnut.com/l/_JWASLx2k1tN4

B.4

C.2

D.5

Answer: D

o Watch Video Solution

Self Assessment Sheet 13

1. Simplify:

a2b(a3 —a+ 1) — ab(a4 —2a% + Za) — b(a3 —a® — 1)

A —a’b

B.ab


https://dl.doubtnut.com/l/_JWASLx2k1tN4
https://dl.doubtnut.com/l/_QzzlgmGJVt6x

C.b

D.O

Answer: C

o Watch Video Solution

Self Assessment Sheet 14

1. The value of the product (4a2—|—3b)(9b2—|—4a) at

a=10b= —2is

A. 60

B. — 80

C.70

D. —50


https://dl.doubtnut.com/l/_QzzlgmGJVt6x
https://dl.doubtnut.com/l/_SDWqNpFudvgY

Answer: B

o Watch Video Solution

Self Assessment Sheet 15

1. The expression that should be subtracted from
4z* — 22% — 622 + = — 5 so that it may be exactly divisible by
20° +x — 2is

A3z +5

B.—3z —5

C.—-3z+5

D.3z — 5

Answer: B

| o WMiadkl .\t daa CAliibkiam



https://dl.doubtnut.com/l/_SDWqNpFudvgY
https://dl.doubtnut.com/l/_UiZvc4lRZRLu
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Self Assessment Sheet 16

1.  The area of a rectangular courtyard is

(10:1:3 — 112* + 19z + 10) sq units. If one of its sides is
(2z* — 3z + 5) units, then the other side is

A. (5z + 2) units

B. —5z + 2 units

C. — (5z + 2) units

D.5x — 2 units

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_UiZvc4lRZRLu
https://dl.doubtnut.com/l/_MlcggfuNSRRU

Self Assessment Sheet 17

1. The smallest fraction, which should be added to the sum of

1 1 1 .
25, 35, 4Z and 53 to make the result a whole number, is:

A —12
B.12
C.a’ +a

D.a —1

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_eB2ADj2Xid73

